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ESTIMATION

Estimation is the method in which we study the value of a given quantity in approximation.

For example- Suppose I have ₹ 48.67 so I can say that I have ₹ 50 approximately and if I have 
₹ 48.45 then I can say that I have ₹ 48. 

There are many types of estimation. We can estimate a given number to the nearest 10, nearest 100 or nearest 1000 etc.

ROUNDING OFF

TYPE 1: The nearest 10

Example- Estimate (round off ) 885 to the nearest tens.
Solution- Here we see ones place digit which is equal to 5 hence tens digit will be increased by 1 and ones digit will be replaced by 0 (zero).
8 8 5 
                                            Equal to 5
                                                  Increased by 1
Hence round off number is 890.

TYPE 2: The nearest 100

Example- Estimate (round off ) 15346 to the nearest hundreds.
Solution- Here we see that tens place digit is less than 5 hence hundred place digit will not be changed and tens and ones place digit will be replaced by 0 (zero).
1 5 3 4 6
                                               Less than 5
                                              No change
Hence round off number is 15300.

TYPE 3: The nearest 1000

Example- Estimate (round off ) 15346 to the nearest thousands.
Solution- Here we see hundred place digit is greater than 5 hence thousand place digit will be increased by 1 and hundred, tens and ones place digits will be replaced by 0 (zero).
1 5 6 2 9
                                          Greater than 5
                                         Increased by 1
Hence round off number is 16000.
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TO ROUND OFF THE SUM AND DIFFERENCE OF 2 GIVEN NUMBERS

1. Rounding off the sum of 2 numbers to the nearest 10
Example- 4 2 7 5 + 3 1 6 4
Solution-  First of all we will round off the 2 given numbers 
4 2 7 5
                                                                                                Equal to 5
                                                                                                 Increased by 1
Hence Round off number is 4280.
3 1 6 4
                                                                                                 Less than 5
                                                                                                 No change
Hence Round off number is 3160.
Now we will find the sum of 2 rounding off numbers 
   4 2 8 0
+ 3 1 6 0
   7 4 4 0
Hence the sum of above 2 rounding off numbers is 7440.

2. Rounding off the difference of 2 numbers to the nearest 100
Example- 7 5 4 2 – 4 6 3 1
Solution-  First of all we will round off the 2 given numbers 
      7 5 4 2
                                                                                                Less than 5
                                                                                                 No change
Hence Round off number is 7500.
       4 6 3 1 
                                                                                                 Less than 5
                                                                                                 No change
Hence Round off number is 4600.
Now we will find the difference of 2 rounding off numbers 
   7 5 0 0
− 4 6 0 0
   2 9 0 0
Hence the difference of above 2 rounding off numbers is 2900.

TO ROUND OFF THE PRODUCT AND QUOTIENT OF THE GIVEN NUMBERS

1. Rounding off the product of 2 numbers to the nearest 100 
Example- 1 1 8 × 2 5 6 
Solution-              Actual Product                                                        Estimated Product
                                      1 1 8                                                                              1 0 0
                                   × 2 5 6                                                                           × 3 0 0
                                      7 0 8                                                                               0 0 0 
                                   5 9 0 ×                                                                            0 0 0 ×
                                2 3 6 × ×                                                                         3 0 0 × ×
                                3 0 2 0 8                                                                          3 0 0 0 0
Hence the product of above 2 rounding off numbers is 30000.

2. Rounding off the dividend to the nearest 1000 and divisor to the nearest 10
Example- 5 6 3 2 1 ÷ 4 1 
Solution- 5 6 3 2 1 ÷ 4 1 ( Actual form )
                 5 6 0 0 0 ÷ 4 0 ( Estimated form )
4 0 ) 5 6 0 0 0 ( 1 4 0 0
                                                                       4 0
                                                                       1 6 0
                                                                       1 6 0
                                                                          ×   0
                                                                               0
 ×  0
     0
     ×

Quotient = 1400
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Q.1. Estimate each sum to the nearest thousands.
    a) 1 9 8 4 2 7 6 7            b) 6 6 2 8 0 9 4 2
     + 2 6 4 3 8 0 5 1	        + 2 3 3 4 6 2 5 6                                                                                                  

Q.2. Estimate each sum to the nearest hundreds.
     a) 2 6 8 5 7                      b) 6 4 1 9 6 
      + 1 4 8 0 5                       + 2 6 2 3 7

Q.3. Estimate each difference to the nearest thousands.
     a) 6 0 3 4 9 6 7                b) 8 9 7 0 5 2 1
      5 7 1 8 7 9 3                 2 6 1 8 6 8 6
 
Q.4. Estimate each difference to the nearest hundreds. 
     a) 2 2 3 6 5                      b) 7 4 8 1 5
      1 8 5 7 3                       3 6 2 7 9

Q.5. Estimate the product to the nearest hundreds. 
     a)                     b)                  c)                      d) 

Q.6. There are 2685 men, 1400 women and 985 children in a village. Estimate the total population  
         of the village (nearest thousands).

Q.7. Estimate the quotient by rounding off the dividend to the nearest thousands and divisor to the   
         nearest tens.
     a) 7 1 2 0 ÷ 65                    b) 5 6 3 2 1 ÷ 4 1              c) 9 0 5 1 ÷ 1 2                 d) 8 4 0 2 0 ÷ 5 7


Note- Please do this assignment in your old copies. It will be checked when the school re-opens.




SOLUTION TO WORKSHEET-1
( uploaded on 04/05/2020)
Date: 11/05/2020

Ans.1- a) The Round off Number of 45 to the nearest tens is 50.

            b) The Round off Number of 826 to the nearest tens is 830.

            c) The Round off Number of 1743 to the nearest 100 is 1700.

            d) The Round off Number of 15629 to the nearest 1000 is 16000.

Ans.2- i) 1 2 1 9                                                                  ii) 5 3 4
                                 greater than 5                                                           less than 5
                                 increased by 1                                                          no change
               Round off number is 1220.                                       Round off number is 530.

Ans.3-i)  9 0 2                                                                     ii) 2 0 1 3 4
                              less than 5                                                                      less than 5
                              no change                                                                       no change
               Round off number is 900.                                         Round off number is 20100.

Ans.4- i)  1 2 5 8 2 5                                                           ii) 5 9 3 0
                                        greater than 5                                                      greater than 5 
                                        increased by 1                                                    increased by 1
                Round off number is 126000.                                  Round off number is 6000.

Ans.5-i)  6 7 5 0 0 5                                                             ii) 5 6 3 4 6
                                     equal to 5                                                                greater than 5 
                                        increased by 1                                                    increased by 1
               Round off number is 680000.                                    Round off number is 60000.

Ans.6- i)  1 2 5 9 2                                                               ii) 6 1 2 0 
                                    greater than 5                                                           less than 5
                                    increased by 1                                                              no change
                Round off number is 12600.                                     Round off number is 6120.
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